STAT 2601  QUIZ #7                  

NAME:                                                 Student ID:                                                                                                                            
Problem1.  The dean in the college of education collected book costs of college students. She asked each student to report the amount of money that they had spent on their textbooks for the entire semester. An analysis was performed to determine if the average book cost of the graduate and undergraduate students differed. The results of the study are shown below.

	 
	Graduate 
	Undergraduate

	Sample Size
	40
	200

	Mean
	$370
	$400

	Standard Deviation
	$80
	$95


Calculate the test statistic for determining if the variation of the graduate and undergraduate students are different. (4 pts)
(Answer)
Group1 = Graduate students

Group2 = Undergraduate students
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If the variation of the graduate and undergraduate students are different.
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Problem 2. A study of iron deficiency among infants compared samples of infants following different feeding regimens. One group contained breast-fed infants, while the children in another group were fed a standard baby formula without any iron supplements. Here are summary results on blood hemoglobin levels at 12 months of age:

	Group
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	Breast-fed
	23
	13.3
	1.7

	Formula
	19
	12.4
	1.8


Is there significant evidence that the mean hemoglobin level is higher among breast-fed babies? (Assume Equal Variances)
(a) State 
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 (2 pts)

(Answer)
Group1 = Breast-fed group 
Group2 = Formula group
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(b) Carry out a t test , give the P-value and make your conclusion? (4 pts)
(Answer) The pooled sample variance is
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The pooled two-sample t statistic is
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By Table VI,

0.05<P-value <0.1
Since P-value is greater than 
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then we can say 

      “ Do not reject 
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